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ECONOMICS (In all Mediums)
Paper-MAECO-102 : Contemporary Issues in
Indian Economy-I

Time Allowed : Three Hours] [Maximum Marks : 80
Note :— (1) Attempt5 questionsinall. Q.no.1is compulsory and
selecting at least one from each Unit.

(2) Short answer type questions carry 2 marks each and
long answer type questions carry 15 marks each.

1. Attempt any 10 parts from the following :
(@) What was nature of Indian Economy during 1980-1990 ?
(b) What do you understand by occupational structure ?
(c) What was the need to introduce economic reforms ?

(d) What is the difference between Labour Force and Work
Force as explained by NSSO ?

(¢) Bringout latest estimates of poverty.

(f)  Enlist various reasons for interstate variations in development.
(®) What is need of Food Security ?

(h) What s objective of Agricultural Diversification ?

() What do you understand by Green Revolution ?
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(G) Explain the term AOA:in agriculture.
(k) Why cropping patterh has changed in India ?

() Fnlist various objectives of Industrial Policy Resolution of
1956. 4

(m) What changes were introduced in IPR of 1991 for Small
Scale Industries ? -+

(n) What is role of Public Sector in Indian Industry ?
(o) What is status of Licensing Policy in the present phase ?

UNIT-1

What is Sectoral Income distribution ? Discuss causes of variation
in sectoral income distribution during the period of 1950-1990.

Highlight main areas of concern of Second Generation Reforms.
Discuss their implications. ,

UNIT-1I

Discuss trends in employment in India since 1993-94 as per
different rounds of NSSO.

Explain causes and consequence of Poverty in India.
UNIT-11I
Explain in detail implications of regional imbalances in Indian

Agriculture.

Bring out structural changes in Indian Agriculture since 1950's.
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UNIT-1V
Evaluate critically impact of New Economic Policy on Indian

Industry.

How will you explain Industrial Structure in India ? Discuss growth
of manufacturing sector since 1980's.

([ wrem)

Note :— (1) Attempt5 questions inall. Q. no. 1is compulsory and

i

selecting at least one from each Unit.

(2) Short answer type questions carry 2 marks each and
long answer type questions carry 15 marks each.

EIETR M o g

(F) 1980-1990 ¥ Wiy spfemaesr &1 w1 w@ey o ?

(@) 3 &1 wEERE G ¥ T sRwm 2 7

(1) ¥ FER FA A T sEEEEa @ °

(=) Nssomaﬁhaﬁamﬁﬁﬁaﬁaﬁmﬁw
AT & 7

(@)W%Wwﬁwmﬁn

(ﬁ)ﬁmﬁmm%ﬁhmﬁm
ExUl

(B) MBR G A 71 Jow@ T ?

() 3 Rfdear & 71 ey 2 2

(@) smuhr eRT WG ¥ T aPwm 2 2

() ™ ¥ AOA W A =y F

1971/BHJ-32614 37 [Turn over



